

Art Number	Description	Description 2
	HAGLÖF INCREMENT BORERS	A complete increment borer includes borer handle, borer bit and extractor
10-100-1001	Increment borer 100 mm/4"	4.3/0,169" core diam.2-thr
10-100-1002	Increment borer 100 mm/4"	4.3/0,169" core diam.3-thr
10-100-1003	Increment borer 100 mm/4"	5.15/0,200" core diam.2-thr
10-100-1004	Increment borer 100 mm/4"	5.15/0,200" core diam.3-thr
10-100-1005	Increment borer 150 mm/6"	4.3/0,169" core diam.2-thr
10-100-1006	Increment borer 150 mm/6"	4.3/0,169" core diam.3-thr
10-100-1007	Increment borer 150 mm/6"	5.15/0,200" core diam.2-thr
10-100-1008	Increment borer 150 mm/6"	5.15/0,200" core diam.3-thr
10-100-1009	Increment borer 200 mm/8"	4.3/0,169" core diam.2-thr
10-100-1010	Increment borer 200 mm/8"	4.3/0,169" core diam.3-thr
10-100-1011	Increment borer 200 mm/8"	5.15/0,200" core diam.2-thr
10-100-1012	Increment borer 200 mm/8"	5.15/0,200" core diam.3-thr
10-100-1013	Increment borer 250 mm/10"	4.3/0,169" core diam.2-thr
10-100-1014	Increment borer 250 mm/10"	4.3/0,169" core diam.3-thr
10-100-1015	Increment borer 250 mm/10"	5.15/0,200" core diam.2-thr
10-100-1016	Increment borer 250 mm/10"	5.15/0,200" core diam.3-thr
10-100-1017	Increment borer 300 mm/12"	4.3/0,169" core diam.2-thr
10-100-1018	Increment borer 300 mm/12"	4.3/0,169" core diam.3-thr
10-100-1019	Increment borer 300 mm/12"	5.15/0,200" core diam.2-thr
10-100-1020	Increment borer 300 mm/12"	5.15/0,200" core diam.3-thr
10-100-1021	Increment borer 350 mm/14"	4.3/0,169" core diam.2-thr
10-100-1022	Increment borer 350 mm/14"	4.3/0,169" core diam.3-thr
10-100-1023	Increment borer 350 mm/14"	5.15/0,200" core diam.2-thr
10-100-1024	Increment borer 350 mm/14"	5.15/0,200" core diam.3-thr
10-100-1025	Increment borer 400 mm/16"	4.3/0,169" core diam.2-thr
10-100-1026	Increment borer 400 mm/16"	4.3/0,169" core diam.3-thr
10-100-1027	Increment borer 400 mm/16"	5.15/0,200" core diam.2-thr
10-100-1028	Increment borer 400 mm/16"	5.15/0,200" core diam.3-thr
10-100-1029	Increment borer 450 mm/18"	4.3/0,169" core diam.2-thr
10-100-1030	Increment borer 450 mm/18"	4.3/0,169" core diam.3-thr
10-100-1031	Increment borer 450 mm/18"	5.15/0,200" core diam.2-thr
10-100-1032	Increment borer 450 mm/18"	5.15/0,200" core diam.3-thr

Art Number	Description	Description 2
	HAGLÖF INCREMENT BORERS	A complete increment borer includes borer handle, borer bit and extractor
10-100-1033	Increment borer 500 mm/20"	4.3/0,169" core diam.2-thr
10-100-1034	Increment borer 500 mm/20"	4.3/0,169" core diam.3-thr
10-100-1035	Increment borer 500 mm/20"	5.15/0,200" core diam.2-thr
10-100-1036	Increment borer 500 mm/20"	5.15/0,200" core diam.3-thr
10-100-1037	Increment borer 600 mm/24"	5.15/0,200" core diam.2-thr
10-100-1038	Increment borer 600 mm/24"	5.15/0,200" core diam.3-thr
10-100-1039	Increment borer 700 mm/28"	5.15/0,200" core diam.2-thr
10-100-1040	Increment borer 700 mm/28"	5.15/0,200" core diam.3-thr
10-100-1041	Increment borer 800 mm/32"	5.15/0,200" core diam.2-thr
10-100-1042	Increment borer 800 mm/32"	5.15/0,200" core diam.3-thr
10-100-1043	Increment borer 1000 mm/39"	5.15/0,200" core diam.2-thr
10-100-1044	Increment borer 1000 mm/39"	5.15/0,200" core diam.3-thr
	LARGE CORE BORERS	Large core borers for tree fiber analysis and other scientific research work. A complete increment borer in
10-100-1045	Increment borer 300 mm/12"	12 mm/0,500" core diam.2-thr
10-100-1046	Increment borer 450 mm/18"	12 mm/0,500" core diam.2-thr
10-100-1047	Increment borer 800 mm/32"	12 mm/0,500" core diam.2-thr
10-100-1048	Increment borer 300 mm/12"	10 mm/0,400" core diam.2-thr
10-100-1049	Increment borer 400 mm/16"	10 mm/0,400" core diam.2-thr
10-100-1050	Increment borer 500 mm/20"	10 mm/0,400" core diam.2-thr
10-100-1051	Increment borer 1000 mm/39"	10 mm/0,400" core diam.2-thr
	HAGLÖF BORER BITS	Borer bit only
10-101-1001	Borer Bit 100 mm/4"	4.3/0,169" core diam.2-thr
10-101-1002	Borer Bit 100 mm/4"	4.3/0,169" core diam.3-thr
10-101-1003	Borer Bit 100 mm/4"	5.15/0,200" core diam.2-thr
10-101-1004	Borer Bit 100 mm/4"	5.15/0,200" core diam.3-thr
10-101-1005	Borer Bit 150 mm/6"	4.3/0,169" core diam.2-thr
10-101-1006	Borer Bit 150 mm/6"	4.3/0,169" core diam.3-thr
10-101-1007	Borer Bit 150 mm/6"	5.15/0,200" core diam.2-thr
10-101-1008	Borer Bit 150 mm/6"	5.15/0,200" core diam.3-thr
10-101-1009	Borer Bit 200 mm/8"	4.3/0,169" core diam.2-thr
10-101-1010	Borer Bit 200 mm/8"	4.3/0,169" core diam.3-thr
10-101-1011	Borer Bit 200 mm/8"	5.15/0,200" core diam.2-thr
10-101-1012	Borer Bit 200 mm/8"	5.15/0,200" core diam.3-thr
10-101-1013	Borer Bit 250 mm/10"	4.3/0,169" core diam.2-thr
10-101-1014	Borer Bit 250 mm/10"	4.3/0,169" core diam.3-thr
10-101-1015	Borer Bit 250 mm/10"	5.15/0,200" core diam.2-thr
10-101-1016	Borer Bit 250 mm/10"	5.15/0,200" core diam.3-thr

Art Number	Description	Description 2
	BORER BITS	Borer bit only
10-101-1017	Borer Bit 300 mm/12"	4.3/0,169" core diam.2-thr
10-101-1018	Borer Bit 300 mm/12"	4.3/0,169" core diam.3-thr
10-101-1019	Borer Bit 300 mm/12"	5.15/0,200" core diam.2-thr
10-101-1020	Borer Bit 300 mm/12"	5.15/0,200" core diam.3-thr
10-101-1021	Borer Bit 350 mm/14"	4.3/0,169" core diam.2-thr
10-101-1022	Borer Bit 350 mm/14"	4.3/0,169" core diam.3-thr
10-101-1023	Borer Bit 350 mm/14"	5.15/0,200" core diam.2-thr
10-101-1024	Borer Bit 350mm/14"	5.15/0,200" core diam.3-thr
10-101-1025	Borer Bit 400 mm/16"	4.3/0,169" core diam.2-thr
10-101-1026	Borer Bit 400 mm/16"	4.3/0,169" core diam.3-thr
10-101-1027	Borer Bit 400 mm/16"	5.15/0,200" core diam.2-thr
10-101-1028	Borer Bit 400 mm/16"	5.15/0,200" core diam.3-thr
10-101-1029	Borer Bit 450 mm/18"	4.3/0,169" core diam.2-thr
10-101-1030	Borer Bit 450 mm/18"	4.3/0,169" core diam.3-thr
10-101-1031	Borer Bit 450 mm/18"	5.15/0,200" core diam.2-thr
10-101-1032	Borer Bit 450 mm/18"	5.15/0,200" core diam.3-thr
10-101-1033	Borer Bit 500 mm/20"	4.3/0,169" core diam.2-thr
10-101-1034	Borer Bit 500 mm/20"	4.3/0,169" core diam.3-thr
10-101-1035	Borer Bit 500 mm/20"	5.15/0,200" core diam.2-thr
10-101-1036	Borer Bit 500 mm/20"	5.15/0,200" core diam.3-thr
10-101-1037	Borer Bit 600 mm/24"	5.15/0,200" core diam.2-thr
10-101-1038	Borer Bit 600 mm/24"	5.15/0,200" core diam.3-thr
10-101-1039	Borer Bit 700 mm/28"	5.15/0,200" core diam.2-thr
10-101-1040	Borer Bit 700 mm/28"	5.15/0,200" core diam.3-thr
10-101-1041	Borer Bit 800 mm/32"	5.15/0,200" core diam.2-thr
10-101-1042	Borer Bit 800 mm/32"	5.15/0,200" core diam.3-thr
10-101-1043	Borer Bit 1000 mm/39"	5.15/0,200" core diam.2-thr
10-101-1044	Borer Bit 1000 mm/39"	5.15/0,200" core diam.3-thr

Art Number	Description	Description 2
	BORER BITS	Large core borer bit only
10-101-1045	Borer Bit 300 mm/12"	12 mm/0,500 core diameter 2-thr
10-101-1046	Borer Bit 450 mm/18"	12 mm/0,500 core diameter 2-thr
10-101-1047	Borer Bit 800 mm/32"	12 mm/0,500 core diameter 2-thr
10-101-1056	Borer bit 300 mm/12"	10 mm/0,400 core diameter 2-thr
10-101-1057	Borer bit 400 mm/16"	10 mm/0,400 core diameter 2-thr
10-101-1058	Borer bit 500 mm/20"	10 mm/0,400 core diameter 2-thr
10-101-1059	Borer Bit 1000 mm/39"	10 mm/0,400 core diameter 2-thr
	HARDENED STEEL BITS	Special coated bits
10-101-1048	Hardened Steel Bit 100 mm/4"	5,15/0,200" core diam. 3-thr
10-101-1049	Hardened Steel Bit 150 mm/6"	5,15/0,200" core diam. 3-thr
10-101-1050	Hardened Steel Bit 200 mm/8"	5,15/0,200" core diam. 3-thr
10-101-1051	Hardened Steel Bit 250 mm/10"	5,15/0,200" core diam. 3-thr
10-101-1061	Hardened Steel Bit 200 mm/10"	5,15/0,200" core diam. 2-thr
	HAGLÖF EXTRACTORS	Extractor only
10-102-1101	Extractor 100 mm/4" 4.3mm	
10-102-1102	Extractor 100 mm/4" 5.15mm	
10-102-1103	Extractor 150 mm/6" 4.3mm	
10-102-1104	Extractor 150 mm/6" 5.15mm	
10-102-1105	Extractor 200 mm/8" 4.3mm	
10-102-1106	Extractor 200 mm/8" 5.15mm	
10-102-1107	Extractor 250 mm/10" 4.3mm	
10-102-1108	Extractor 250 mm/10" 5.15mm	
10-102-1109	Extractor 300 mm/12" 4.3mm	
10-102-1110	Extractor 300 mm/12" 5.15mm	
10-102-1111	Extractor 350 mm/14" 4.3mm	
10-102-1112	Extractor 350 mm/14" 5.15mm	
10-102-1113	Extractor 400 mm/16" 4.3mm	
10-102-1114	Extractor 400 mm/16" 5.15mm	
10-102-1115	Extractor 450 mm/18" 4.3mm	
10-102-1116	Extractor 450 mm/18" 5.15mm	
10-102-1117	Extractor 500 mm/20" 4.3mm	
10-102-1118	Extractor 500 mm/20" 5.15mm	
10-102-1119	Extractor 600mm/24" 5.15mm	
10-102-1120	Extractor 700 mm/28" 5.15mm	
10-102-1121	Extractor 800 mm/32" 5.15mm	
10-102-1122	Extractor 1000 mm/39" 5.15mm	

Art Number	Description	Description 2
	EXTRACTORS LARGE CORE	Large core extractor only
10-102-1023	Extractor 300 mm/12" 12 mm/0,500	
10-102-1024	Extractor 450 mm/18" 12 mm/0,500	
10-102-1025	Extractor 800 mm/32" 12 mm/0,500	
10-102-1026	Extractor 300 mm/12" 10 mm/0,400	
10-102-1027	Extractor 400 mm/16" 10 mm/0,400	
10-102-1028	Extractor 500 mm/20" 10 mm/0,400	
10-102-1029	Extractor 1000 mm/39" 10 mm/0,400	
OTHER	Increment borer 1500 mm art.no. 10-100-1052 available on request/produced on order. Contact us for prices and details!	
	OTHER PRODUCTS	Accessories for Increment Borers
10-500-1016	Haglöf Tree Core Reader	Field adapted, mm/inch grad.
10-301-1003	Bark Thickness Measurer mm	
10-302-1001	Increment hammer	
10-500-1001	Borer Chuck	
10-500-1002	Borer holster 200 mm	Leather holster
10-500-1003	Borer holster 300 mm	Leather holster
10-500-1004	Borer holster 400 mm	Leather holster
10-500-1005	Borer starter	
10-500-1006	Sharpening kit	Kit containing stones, wax, oil, sand. Shipping restrictions may apply.
10-500-1007	Borer starter adapter 10 and 12 mm	

Art Number	Description	Description 2
	PRECISION CALIPERS AND ACCESSORIES	
	MANTAX BLUE	Mechanical calipers, large assortment graduation options. Scale print both sides.
11-100-1101	Mantax Blue 400 mm	Millimeters / centimeters, both sides. Adjustable jaws. Allen keys included in packet
11-100-1102	Mantax Blue 500 mm	
11-100-1139	Mantax Blue 600 mm	
11-100-1103	Mantax Blue 650 mm	
11-100-1104	Mantax Blue 800 mm	
11-100-1105	Mantax Blue 950 mm	
11-100-1138	Mantax Blue 1000 mm	
11-100-1106	Mantax Blue 1020 mm	
11-100-1107	Mantax Blue 1270 mm	
11-100-1110	Mantax Blue 18"	Inch graduation both sides. Adjustable jaws. Allen keys included in packet
11-100-1111	Mantax Blue 24"	
11-100-1112	Mantax Blue 30"	
11-100-1113	Mantax Blue 36"	
11-100-1114	Mantax Blue 40"	
11-100-1115	Mantax Blue 50"	
11-100-1116	Mantax Blue 18"/500 mm	Inch print upper side, cm/mm on backside. Adjustable jaws. Allen keys incl. in packet
11-100-1117	Mantax Blue 24"/650 mm	
11-100-1118	Mantax Blue 30"/800 mm	
11-100-1119	Mantax Blue 36"/950 mm	
11-100-1123	Mantax Blue 500 mm	Compensé/Triple French Graduation
11-100-1124	Mantax Blue 650 mm	Compensé/Triple French Graduation
11-100-1125	Mantax Blue 800 mm	Compensé/Triple French Graduation
11-100-1129	Mantax Blue 800 mm MM	Compensé/Triple French Graduation Meter Marker
11-100-1126	Mantax Blue 950 mm	Compensé/Triple French Graduation
11-100-1127	Mantax Blue 1020 mm	Compensé/Triple French Graduation
11-100-1128	Mantax Blue 1270 mm	Compensé/Triple French Graduation
OTHER	SPECIAL MANTAX BLUE MODELS	Below models are not regular stock items. Please contact us for more print graduations & delivery delays!
11-100-1140	Mantax Blue 1250 mm 5-cm classes graduation on upper side, mm/cm on backside	
11-100-1181	Mantax Blue 1520mm scale length suitable for fish/wildlife measuring. Adjusted jaw length	
11-100-1137	Mantax Blue 1800mm scale length suitable for fish/wildlife measuring. Adjusted jaw length	
The above art no's represent only a few of the scale prints and graduations we offer for our Mantax Calipers. Contact us for details and offer on custom scale prints!		

Art Number	Description	Description 2
	MANTAX BLACK	Precision calipers, mechanical, with patented foldable jaws. Scale print both sides.
11-200-1002	Mantax Black 500 mm	Millimeter Graduation
11-200-1003	Mantax Black 650 mm	Millimeter Graduation
11-200-1004	Mantax Black 800 mm	Millimeter Graduation
11-200-1005	Mantax Black 950 mm	Millimeter Graduation
11-200-1006	Mantax Black 1000 mm	Millimeter Graduation
11-200-1008	Mantax Black 18"	Inch Graduation
11-200-1009	Mantax Black 24"	Inch Graduation
11-200-1010	Mantax Black 30"	Inch Graduation
11-200-1011	Mantax Black 36"	Inch Graduation
11-200-1018	Mantax Black 500 CM	Compensé, millimeter
11-200-1019	Mantax Black 650 CM	Compensé, millimeter
11-200-1020	Mantax Black 800 CM	Compensé, millimeter
11-200-1022	Mantax Black 950 CM	Compensé, millimeter
13-600-1094	Carrying Case for Caliper ^{New!}	Fits all calipers with foldable jaws, lengths 50-65 cm, 18"-24"
13-600-1095	Carrying Case for Caliper ^{New!}	Fits all calipers with foldable jaws, lengths 80-102 cm, 30"-40"
The above art no's represent only a few of the scale prints and graduations we offer for our Mantax Calipers. Contact us for details and offer on custom scale prints!		
	GATOR EYES LASER POINTER CALIPER	Patented foldable jaws with Gator Eyes green laser pointers factory installed.
11-200-2101	Mantax Black 500 mm w Gator Eyes	Green Gator Eyes. Extra scale print for laser reading with added inch - 2.54cm
11-200-2102	Mantax Black 650 mm w Gator Eyes	Green Gator Eyes. Extra scale print for laser reading with added inch - 2.54cm
11-200-2103	Mantax Black 800 mm w Gator Eyes	Green Gator Eyes. Extra scale print for laser reading with added inch - 2.54cm
11-200-2008	Mantax Black 18" with Gator Eyes	Green Gator Eyes. Add one inch on scale result for the laser pointer reading!
11-200-2009	Mantax Black 24" with Gator Eyes	Green Gator Eyes. Add one inch on scale result for the laser pointer reading!
11-200-2010	Mantax Black 30" with Gator Eyes	Green Gator Eyes. Add one inch on scale result for the laser pointer reading!
OTHER	NOTE! User restrictions for green laser technology may apply. Please check local legislation prior to purchase and use! Batteries are not included due to shipping restrictions.	
	GATOR EYES LASER POINTERS	Red laser assembled on jaws
15-103-1501	Gator Eyes DT500 Red Laser	Jaws for Mantax Blue and Mantax Digitech with red laser pointer factory assembled
15-103-1502	Gator Eyes DT650 Red Laser	Jaws for Mantax Blue and Mantax Digitech with red laser pointer factory assembled
15-103-1503	Gator Eyes DT800 Red Laser	Jaws for Mantax Blue and Mantax Digitech with red laser pointer factory assembled
OTHER	Red laser is best seen in dusk/dark light conditions. User restrictions may apply on all laser pointers - check local legislation prior to purchase and use! Batteries are not included du	
	CALIPER ACCESSORIES	
11-500-1001	Holster for caliper in belt	For Mantax Blue, Mantax Black and Mantax Digitech
OTHER	Marktax Marking System for Mantax Calipers is still available for purchase. Contact us for details!	

Art Number	Description	Description 2
Art Number	Description	Description 2
	TRAILBLAZER NEW!	
15-103-2001	TrailBlazer	Incl laser pointer TrailBlazer instrument, leather case, lanyard, reflective vest, one-size. 1xCR2 3V battery required for use/not included on shipments outside Europe. For use with compass KB-14. Compass not included!
15-103-1532	Monopod non-magnetic	Monopod camera-type with footbracket, non-magnetic
IMPORTANT!	All metallic objects including metal framed eye-wear may compromise compass bearing.	
	If ordering monopod for use with the TrailBlazer, make sure to order non-magnetic monopod art no 15-103-1532! Compass bearing will otherwise be compromised	
	THREAD DISTANCE METER	
16-103-1002	Walktax Metric	Thread Distance Meter. Also available with counter in feet.
16-103-1006	Measuring Thread 10-pack	
	SOIL SAMPLERS	
16-102-1001	Soil sampler stick	7 dm measuring depth, steel tube
16-102-1006	Soil sampler stick 7 dm	7 dm Measuring depth, massive steel
16-102-1005	Soil sampler stick 9 dm	9 dm Measuring depth, massive steel
	MECHANICAL COUNTERS	
17-102-1005	One-piece counter with belt clip	Mechanical counter, 1 position, round, plastic for use on belt
17-102-1001	HÖMA 3pc counter	Mechanical counter, 3 positions
17-102-1002	Holster HÖMA 3pc	Holster for 3pc counter
17-102-1003	HÖMA 4pc counter	Mechanical counter, 4 positions
17-102-1004	Holster HÖMA 4pc	Holster for 4pc counter
	CRUISING VESTS	
17-104-1001	Cruising Vest M nylon mesh	Available in bright orange or beige, please specify color on order
17-104-1002	Cruising Vest L nylon mesh	Available in bright orange or beige, please specify color on order
17-104-1003	Cruising Vest XL nylon mesh	Available in bright orange or beige, please specify color on order
17-104-1004	Cruising Vest XXL nylon mesh	Available in bright orange or beige, please specify color on order
	FACTOR GAUGE	
15-102-1005	Haglöf Factor Gauge Inch	
15-102-1005	Haglöf Factor Gauge Metric	
17-101-1003	Ludde	Factor Gauge red plastic and metal chain
	OTHER INSTRUMENTS	
16-101-1001	Brush axe	Durable hickory wood and metal head. Spare axe blades available in 10-pack
	DETAILS & CONTACT INFORMATION	

Unit prices excl shipping costs from 1st of January 2023. Reservations for faults, printing errors, currency fluctuations larger than 5% and changes in raw material prices. Products may be subject to change and/or shipping restrictions.

For details, discounts, contact etc, please see General Terms of Business with amendments, separate documents/agreements. ©Haglöf Sweden AB

Your quantity discount on Haglöf Sweden increment borers (10-100-1001--10-102-1029), Precision Calipers (11-100-1101--11-200-1022 Mantax Blue and Mantax Black)

and Walktax (16-103-1002 and Measuring thread 10 pack 16-103-1006) as follows:

5 % Purchases from Euro 4 898,00 - 9 227,99	
10 % Purchases from Euro 9 228,00 - 18 890,99	
15 % Purchases from Euro 18 891,00 and above.	

No accumulation of orders to reach higher quantity discount. No combination of discounts. Note: only Haglöf Sweden borer brand opt for quantity discounts.

Suggested list prices are price indications and not fixed values and prices can differ and depend on import and shipping costs, general pricing levels etc. Haglöf Sweden do not recommend prices below the suggested list price level.

Haglöf Sweden reserves the right to reject orders/requests for example for reason such as overdue payments, underselling and selling on territories outside the stipulated dealer's territory.

Certain products and product components may be restricted to use or forbidden on some markets. As Haglöf Sweden Dealer you are responsible to perform any necessary controls before selling and distributing the products to you.

When purchasing goods at dealer's price level you agree to terms and conditions stated in our General Terms of Business. Haglöf Sweden AB, Klockargatan 8, SE-882 30 Långsele, Sweden. +46 620 255 80. www.haglofsweden.com